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SHORT CONVERSATIONS

When is the man leaving?

O O After he makes a shopping list
0 O After the woman returns from shopping
0 O After he finishes his other shopping

0 O After it stops raining outside

Which one of the statements is correct?
0 0 The man works at a library.
0 O The woman teaches English.
O O The man wants to know the name of the woman’s teacher.

0 0 The woman bought the wrong textbook for her English class.

Which one of the statements is correct?
0 0 The woman wants to go to the Black Pink concert.
0 0 The man will buy the concert tickets online next week.
0 0 The man and the woman went to the concert last night.

0 0 The man and the woman waited outside together to get the tickets.

Which one of the statements is correct?
0 0 The woman is sick because she was doing schoolwork late at night.
0 0 The man will email the homework assignment to the woman.
0O O Someone will walk to the Student Health Center with the woman.

0 0 The woman will go and buy some medicine on the way home.



Which one of the statements is correct about the man?
0 O He is trying to get a drink for the woman.
0 0 He will buy coffee from a vending machine.
0 0 He has already had free coffee in the lounge.

0 0 He appreciates the woman’s advice.

Which one of the statements is correct?
0 0 The man usually comes home quite early.
0 0 The woman invited someone over for dinner.
0 0 The man will definitely come home earlier than usual tonight.

0 0 The woman wants the man to help her cook dinner.

Which one of the statements is correct?
0 0 The man attended the meeting on Tuesday.
0 0 The woman reminded the man of a meeting next Tuesday.
0 0 The man thought yesterday was Monday.

0 0 The woman wants the man to join the meeting on Wednesday.

Which one of the statements is correct?
0 0 The woman works at the library.
0 0 The man is asking the woman for a favor.
0 0 The woman will help her professor.

0 0 The man will visit his professor in the afternoon.

What is Mr. Johnson’s job?

0O O A teacher
0O A principal
0 0 An engineer

0 O A businessperson



What is the man’s problem?

00 He can’t decide between a necklace and earrings.
0 0 He doesn’t know what to buy for his wife.
00 He can’t spend a lot of money.

0 O He doesn’t know his wife’s favorite color.

Which one of the statements is correct?
0 0 The woman will see a movie tomorrow.
0 0 The man won’t see the woman tomorrow.
0 0 The woman will help the man’s brother tomorrow.

0 0 The man will meet the woman today at 5 p.m.

Which one of the statements is correct?
0 0 The man hurt his leg.
0 0 The man is upset about a dog.
0 0 The woman wants to help her dog.

0 0 The woman feels sorry for the man.

Which one of the statements is correct?
00 0 The woman thinks their table is too smoky.
0 0 The woman thought their co-worker had a boyfriend.
0 0 The man wants to sit by the window.

0 0 The man recognizes his co-worker’s face.

Which one of the statements is correct?
0 0 The man recognized the woman right away.
0 0 The woman doesn’t usually wear glasses.
0 0 The man thinks the woman looks better without the glasses.

0 O The woman asked the man for advice about her problem.



Which one of the statements is correct about the man?
0 0O He is good at snowboarding.
0 0O He is good at skiing.
0 0 He hasn’t skied for a long time.

0 0 He will join the woman on the weekend.

Which one of the statements is correct?
0 0 The man is a member of a book club.
0 0 The man plans to organize a book club.
0 0 The woman wants to visit the man’s place.

0 0 The woman knows where Shakespeare was born.



LONG CONVERSATIONS

Long conversation 1

What are the speakers talking about?

0 O Learning to drive

0 O Going to a movie theater
0 O Taking a break

0 O Studying English

According to the conversation, which one of the statements is correct?
0 O Parents need to say “yes” more often to their children.
0 O Watching movies is one way to learn a language.
0 O Spending time alone is not much fun.

0 O Learning English takes a long time.



Long conversation 2

How many days a week is the woman likely to work at the pastry
shop?
0 O one day
0 O two days
0 0O three days
O O four days

Which one of the statements is correct?
0 0 The man wants to work in a pastry shop.
0 0 The woman is helping the man find a job.
0 0 The man gave the woman a phone number.

0 0 The woman can work on weekends.



Long conversation 3

What are the man and the woman talking about?
0 0 The events in the Olympics
0O A sports competition
0 O The best type of exercise
0 O Favorite things to do

How often does the woman go swimming in the spring?
00O Once a week
OO Twice a week
0 O Three days a week
0 0 Every day of the week



Long conversation 4

What animal is the man writing about?
O O Gorillas
O O Sea otters
0 0 Blue whales

0 O Giant pandas

Which one of the statements is correct?
0 0 The man is helping the woman to write an essay.
0 0 The woman is asking the man about his assignment.
0 0 The man is telling the woman about his vacation in Africa.

0 0 The woman is explaining to the man about endangered species.



MONOLOGUES

Monologue 1

When did the Matsumotos start selling shaved ice?
O0OIn 1951
O0OIn 1956
00 In 1960
O0OIn 1976

Which one of the statements is correct about Matsumoto Shave Ice?
0 O Most of their customers are tourists from Japan.
O O Their ice-shaving machine came from Japan.
0 0 The present owner has two brothers and one sister.

0 O Their T-shirts have become more popular than their shaved ice.



Monologue 2

According to the monologue, which is one definition of the word
Broadway?
00O A wide road which is about 20 kilometers long
0 0 The northernmost tip of the island of Manhattan
00O A famous theater in the center of New York City
00O A trail used by Native Americans in the 1890s

According to the monologue, which one of the statements is correct?
O O Ticket sales for Broadway plays showed a slight decrease in 2018.
0 O Broadway is known as the first district in the U.S. to be lit with
gas lights.
0 O There were more than 1 billion theater-goers to Broadway in 2018.

0 0 Broadway has been an important part of American culture.



Monologue 3

Which one of the following would be the best title of this monologue?
O O The future of Bhutan
O O The traditions of Bhutan
0 O The national sport of Bhutan
0O O Facts about Bhutan

Which one of the statements is correct about Bhutan according to the
monologue?
0 O Its government regularly checks how happy the people are.
0 O Most young people are happy with their traditional lifestyle.
0 0 A Bhutanese cricket team played in the Summer Olympics.

0 O There are multiple official religions in the country.





